Quantum Mechanics FKA081/FIM400
Final Exam January 17 2013

Next review time for the exam: 1 February 15-17 in my room.

NB: If you want to come to the review you must collect your exam
before at the “Kansli” in Origo 4th floor (Opening hours Mon,
Wed, Fri 9:00-11:00. (This info is also available on the course home-

page.)

Examinator: Gabriele Ferretti tel. 7723168, 0762293068 ferretti@Qchalmers.se

Allowed material during the exam:

e The course textbook J.J. Sakurai and Jim Napolitano, Modern Quan-
tum Mechanics Second Edition (2010).
NB: The old red cover version: J.J. Sakurai, Modern Quantum Me-
chanics Revised Edition (1994) is also allowed.

e A standard calculator.

Write the final answers clearly marked by Ans: ...
and underline them.

You may use without proof any formula in the book.

There is a total of 30 points in this test. The exam counts for 90%
of the final grade, (that is 3x points %). The grades are assigned
according to the table in the course homepage.



Problem 1

Consider the Hamiltonian H = Hy + H’ where

E, 0 O 0 0 a
Hy=| 0 E 0 and H'=|0 0 b (1)
0 0 EQ a b 0

where £ < Fy, H' is a perturbation and a and b are real.

Q1 (1 points) What is the degeneracy of the energy levels of Hy?

Q2 (2 points) Show that the spectrum is not corrected to first order in
perturbation theory.

Q3 (2 points) Find the second order correction to the level E,. (NB: Do not
try to do the second order correction for Ej.)

Problem 2

A one dimensional harmonic oscillator of angular frequency w is in its ground
state (n = 0) for t < 0. For t > 0 it is subjected to a potential

V(z) = e V2 (2)

where x is the coordinate operator and A\ a small constant.

Q1 (2 points) Discuss what are the transitions 0 — n allowed to first order
perturbation theory.

Q2 (3 points) Find the probability of finding the oscillator in the n = 4
excited state at ¢ — 4-00.



Problem 3

Consider a mixed ensemble of spin 1/2 neutral atoms. The spin ensemble
averages of the beam along the x and y directions are measured to be [S,| =
0.4 and [S,] = 0.3.

Q1 (1 points) What other measurement is required to completely specify p?
Q2 (3 points) What is the maximum value we can expect for [S,]?

Q3 (3 points) What can we say about the beam in the case when [S,] is
maximum?

Problem 4

Consider the following statement: “For any three operators A, B and C on
some Hilbert space, if A commutes with B and B commutes with C then A
commutes with C.”

Q1 (1 points) Is the statement true or false?

Q2 (2 points) If true, give a proof, if false, give a counterexample.

Problem 5

The Hamiltonian of a one-dimensional harmonic oscillator is given by

1 1
H = —p* + —a* 3
P T 5T (3)
where for simplicity we set all dimensionfull parameters to one.

Counsider the trial wave function

1+ (x/a) for —a<z<0
P(x)=< 1—=(z/a) for0<z<a (4)
0 for |z| > a

Q1 (3 points) Perform the variational calculation and find the energy of the
ground state in this approximation.

Q2 (1 points) Sketch the form of the trial wave function you would use to
compute the energy of the first excited level.



Problem 6

Q1 (One point for every commutator.)

Compute the following six commutators of operators in the Hilbert space
of a single particle. (r? = 22 + y* + 22, p = momentum, L = orbital angular
momentum, S = spin.)



C\i@@_&,i

Q1 : E\ QbuMM‘e ) E, how QQQEM%
QZ‘, The L-:yu\v‘e chor & Cowe S@Oxotvgo b € ane
\E1)4>*( ) \E.2>»(<‘>>-

ot - (EM(H | 4, 4 > =0 4‘/3,_4011_
CNo'rex H‘IE.,D = (g) ) \4 \Ey,2) = (E > |
o> No ot cwlor g chow o

t
o
The Q%/MVQC‘LM ﬁrz 'S lE?(_?
%O\%\M{M <(;&]Hft2>”0 :
=y No |gt 010(94 Covwe N ow fo t, |

Q% Ez(l):z |<Enﬂ“‘4\‘t—z>]2

9=1,2 Ele,

:{‘;’E,UOOO)H LAY ’1§ i
. E) {‘(('w)(‘&).z*((mo)(?)f ? -

) o +\l>\
Ez'E\/

—




:PM%L%M Z

(\ i . \ {Ou S (*“OV\ YQ\O @)\M\(F’QA(\‘@QQ

C((lv? :”% K Uw /\Q L xP 10>
O N i'

" .
\‘W7=;l:(@+)m(©>, ><q.~<-—~) (Q+Q+)

VML 2m W

NO‘\Q“ (Q+QT)(1P/({&(+QQ +9/Q//Q’Al/+ M‘f
+QZQH+QQQQ+J,QqQ MQ*r}/Q/Q

v ol gl P dad p Qe d gt QM

\COU\A LWWQC,LQIGQLQ Q/IQG) H\Q g) rQWV\S LQ&‘H/\
o o e m%# ho commne QlOD sO

T\\Q Wm\Qq &/QAQ SOAVRN :L&JZJ\O o~ 10
Qo> = & [a,afiey = & lo> =0

+
Tha femes o qafeat avsl Qo

Combo, The Yo o a0 X a's od &S

WU %Awa%w on <m| 410> PAM>0.

2 t3
e Fowns o o a Ce Qe

)
%ﬂ\\m MO 2RNO oqua JigL ns0 ONO&
‘{. \ - ) £\ . 0“32—‘ Q’l.
ol (Lqum 1 M= i - QV\( o aﬁ@:wa{

e



QL Rk whe s (g [x40 = .

TRG Lot (V A4
- (3 i <18 > <
R

Q) W 't\ /-b/é_ Z- -
ol ot far N e T () W

ﬁ Q
t (Geb-)t]
L % L (nb\)‘q—%){’/
/,mAgi'(m‘)gQ{/é)Q/ =




:{jﬂo\%\,gb\ 3 C»%f () |
QA We need  potly QOASz)

Q~<3. [S%

QZ/ - Let [SZK = X e OWS
S (b MQ) Jrana - Zx 2

-4/ p-pT -4
[S’&’:(“ \2, tlS(S-A = l? = O, L1
[S)- 2o, -c=03

[Sg] tlgi‘(\‘ /f(/ZQ () P =5 Q= 2+Zf/

| T
Oy T xeo02s  GgE1



d* ‘
A e Llea )28y ¢ L §(x-2).

dx* ] S Q

L ' .(lx’
= <%F>:,Z§L¥)k‘)()o\x

_ l,\,(,
2






?MB-?M,Q )9
L) [0 S )0

2>[‘L vy = [ Le Xﬂ [Ly, X/J L 5]

= axle? rrxzls a—thy %Lyy n

I

Ce—

—%«Lg}' 'f\)/("?\y"‘)(l‘%?( 17« L:g -
(o ol b wuten o tern of P75 )

) [0, 0 ) - (7, x = <L, <} + [W]X



	QMfinal_2013_01_17.pdf
	sol.pdf
	img-130122095504.pdf
	img-130122095529.pdf
	img-130122095556.pdf
	img-130122095611.pdf


